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Section—-A (Marks : 2 x 10 = 20)

Answer all ren questions (Answer limit 50 words). Each question carries
2 marks.

(@ue-3) (BfF:2x 10 = 20)
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Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(@ve-a) (3T : 8 x 5 = 40)
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Section-C (Marks : 20 x 2 = 40)
Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.
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Section-B
(@us-a)
2. What are the objectives of Financial Statement Analysis ?

ﬁmﬁwm%mml

Compute the current ratio and acid test ratio from the following figures extracted
from Gopal Ltd :

ﬁwﬁﬁfwﬁnﬁﬁwﬁ%ﬁﬂﬁaﬁﬂwmﬁﬁﬁﬁmﬁmm:

Liabilities ®) Assets )
Sundry Creditors 20,287 | Goodwill 80,000
Bills Payable 900 | Land and Building 60,000
Bank Overdraft 2,600 | Stock 13,640
Provision for Taxation 6,200 | Sundry Debtors 26,150
Proposed Dividend 4,313 | Bills Receivable 1,130
Provision for Deferred Taxation 7,000 | Advance Income Tax 5,000

Cash 2,430
Payment in Advance 3,100

4. How is Cash Flow Statement is different from Funds Flow Statement ?
e yare faawu, ®v yaw faamm 4 frg gor fus & 2

5. The following data were obtained from the statements of Agarwal Ltd :

sara fa. & foaron @ frefafen siwe 3oy § . : €9

Net Sales 24,00,000
Average Total Assets 12,00,000
Average Shareholders Equity 8,00,000
Net Profit from Operation 6,00,000
Net Profit after Interest and Tax 3,00,000

Compute the rate of return for management and shareholders purpose.

Yo T Ayl & fow gem g &t e sifea
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Explain the difference between average cost and marginal cost of Capital.
it w1 fiya @rT s @ @rTd W ST T shifeg |

A toy manufacturer earns an average net profit of ¥ 3 per piece at a selling price
of ¥ 15 by producing and selling 60,000 pieces at 60% of capacity. Composition

of his cost of sales is :
uw fadm @ fmiar 60,000 sl #1 stgar Suee ama 1 60% IAEA HIT £ TE
X 15 wfd s fosha o W ¥ 3 wfa s yw @iw sifta w1 sEe faswa @

Hl I992 39 UFR © T per piece
| 4

1
6 (50% Fixed)
1 (25% Varying)

Direct Material
Direct Wages
Work Overheads
Sales Overheads
During the current year he intend to produce the same number but anticipated
that :

(@)  His fixed charges will go up by 10%

'(b) Rates of direct labour will increase by 20%

(© Rates of direct material will increase by 5%

(d)  Selling price cannot be increased
Under these circumstances he obtains an order for a further 20% of his capacity.
What minimum price will you recommend for accepting the order to ensure the

manufacturer an overall profit of ¥ 1,80,500 ?

A g9 H o IqA & qed IAfed HA ARdl € Ak F€ FHE F & F
(37) 3t feer @l ®H 10% gfg @

(9) g4 #9 1 U H 20% gfe et

(9) Y&l |t S 5% 9@ dent

(2) fasha qgea =& =@ w1 9
Sy aftfeafoed § Wt STot arwer @1 20% sl sfiss H ARY W A ¥ W SRy
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Income Statement for the Year 2020-21

Net Sales 50,40,000
Less : Cost of Sales 39,60,000
Depreciation 1,20,000
Salaries and Wages 4,80,000
Operating Expenses 1,60,000
Provision for Taxation 1,76,000 | 48,96,000
1,44,000

Add : Non-recurring Income :

Profit on sale of an item of equipment 24,000
Retained Earning 1,68,000
Balance in P & L A/c brought forward 3,03,600
4,71,600

Less : Dividend declared and paid during the year 1,44,000
3,27,600

You are required to prepare a statement of changes in Working Capital and

Statement of Sources.

Y] FT AESHE Hl =06 g TS FEIA 950 5 Iadd &1 faagn qon e &
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11. The capital structure of Vandana Ltd 1s as under :

F=a1 fa. #1 it T 39 TER T ¢ ()
2,000 6% Debentures of ¥ 100 each (First issue) 2,00,000
1,000 7% Debentures of ¥ 100 each (Second issue) 1,00,000
2,000 8% Cumulatives Preference Shares of ¥ 100 each 2,00,000
4,000 Equity Shares of ¥ 100 each 4,00,000
Retained Earnings 1,00,000
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The earnings per share of the company in the past many years has been X 15. The
shares of the company are sold in the market at book value. The company’s tax
rate is 50% and shareholders personal tax liability is 10%. Find out the weighted
average cost of capital.

T AN QA R ufa e X 15 ¥ A # FEA F W RS e W
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12. What do you mean by ‘Linear Programming’ ? Explain its areas of application

and importance.
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